14

19

1819 1820

14.1

J=Qu (14. 1)
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j=pv (14.2)
dt dQ
J
J=22CIs] (14. 3)
[ I ]
[ ]
[A] = [CIs]
(14.3)
Q= Jdt
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J=]s]ds

I=lsj-ds (14.4)

JsA-dS=J,v-Adv

(14. 4)
J=Jgj-dS=[,v-jdv (14.5)
S Vv
\ p
Q
Q= Jy pdv
(14.3) L2
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3= =£(ly pdv) = [, Zav (14.6)
J=—Z |, ZLdy (14.7)
(14. 4)

(14.7)

J=lsj-dS=-F=—[, Zdv (14.8)
(14.5)

¥ - jdv = — Jy Zdv (14.9)

v-j+2=0 (14. 10)

14.2
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dt dM

Jg dd_'\t/l[kgls]

(14. 11)

Jg

Jg=pgV

Jg:fsjgds
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Jg

Py

(14. 11)

(14. 12)

(14. 13)

(14. 14)



Jg

Jg:fsjg‘ds

Jg=l5jg-dS=1J,v-jgdv

M= [y pgdv

(14. 11)

5
Jg = % = %(jvpgdv) = |y %dv
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(14. 15)

(14. 15)

(14. 16)

Py

(14. 17)

(14. 15)



Jg:jsjg‘dsz—%:—jv%gdv

(14. 16)

fvv‘jgdvz_fv%dv

. 9Py
Velgt7 =0

14. 3
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(14. 18)

(14. 19)



O

14.1
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(

14.2)



14. 4

VXH=]
H;
czva:,gl0
C,

14.2

H= CZSQB
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(14. 20)

(14. 21)



(14. 20)

L=rxP

P = 0i+0j+ [Pk = Pk

r=Xi+yj+zk (6.35)

L =rxP =Xi+Yy]+zK)x Pk = Pyi - Pxj

LX = Py, Ly :_PX, Lz :0

(14.22) rot
vxL= (G - T+ (7 - T+ (G -5k
= 0i + 0 + (=22 — aPy)k
=0i1+0j—2Pk=-2P
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(14. 21)

(14. 22)



v x(—2Hg) = —2P

rot

L

14.3

(14. 20)

14.5
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(14. 20)

(14. 23)

] [



14. 3

14. 4
E

E=—vp (14. 24)

v.E=L (14. 25)
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€o

S/

X=vXE

vx E

div
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P
S’ E
S’ Y
S/
X
(14. 26)
v.-X=0
(14. 27)
(14. 27)
(14. 28)



V- (V2E) =V - (XXV)
(14. 29)

v-(V2E)=w?.-E+V?v-E
v w2=0
v-(V’E)=V?v-E

Ve(XXV)=V: VX X=X-VXV
v (11.52)
vxv=_0
V.e(XXV)=Vv-vxX

(14. 29)

ViV.-E=Vv-vxX
v+0
vxX=22E L kxy
k
k=0
VxXX=vw-E
(14. 25)

(14.32)  (14.25)
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(14. 29)

(14. 30)

(14. 31)

(14. 31)

(14. 32)



Vv
UXX =%

X =c?’B j=pv
c’vxB :,glo
C
B
14.6
14.5 (14. 34)

(14. 24), (14. 25)

j
cvxBy =%
C, By

Jg=pgVi
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(14. 33)

(14. 33)

(14. 34)

(14. 24), (14. 25)
(13.24), (13. 25)

(14. 35)



Bg
(14. 35)
14.7
( 14.4)
A -F
> ]
v F
A -F
> ] <
v F
14. 4
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( 14.5)

14.5
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(

14.6
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14. 6( a)

14. 6(b)
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14.8

(14. 35) B,

(14. 35)
(14. 35)
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( 14.7)

l &GG\

14. 7(a)
_>_/
_>; F _
14. 7(b)
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14.9
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14. 10

(14. 35)

i
c?VxB=%+5%
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(1)

j
c’vxB=1

v-(vxB)=0

v-j=0

J
C?VyxB=%+5%

(14. 21)

div

(14. 36)

(14. 10)

(14. 21)

(14. 37)



div

o

V'SLO—’_V‘%:

Il
o

V-j+eosv-E

(2)

j
cvxBy =%

(14. 19)

9Py
VepV ="

(14. 37)
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(14. 38)

(14. 37)

(14. 35)

(14. 19)



Jg=pgv
(14. 38)
(14. 35) (14. 19)
C27 x By = 2 + 5
ig OEg

(14. 40)

. g
Velg=—"a

(14. 19)

(14. 39)

div
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(14. 19)

(14. 35)

(14. 39)

(14. 40)

(14. 39)



14.11

Jul2

Iz

g1

(1,02
i1 J2
q: Q2
gz gz J1
q: Q2
i1 Q2 J1,02
q: Q2
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14. 8)

Wi, W2

(1)

Wi, W2

<~ QO—

W

<~ QO—
V"

14. 8
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